Chapter Oney  Concept of  Strey

S+YQSS = tarie
)‘V.“)\ Brect
Cvois - Se chtond
avea (R)
5 = P Stress (5)
A 7
Slgma.
Units oj- Stres
_ P 8!
&= = 5 or Pascal (p,)
(16Y | |
;000 Pa — 1 Kl pa.SCxL C Lk Pa)
C106> \,ooo/oao Pa —> 1 Mega Pascal (1 MPa§
((oq)\/()do/OOQOOO Po. —> _'LGTSJL pa.SCAL Ci CWPQB
TYPes ‘é‘ Styess
HP D Nowmal  Steess (5 P n &= %
2 7\‘;-\@ Sl‘lear S*Y@‘S‘S Zz—j\ta _ P
oo, “« PUA T=Z
Prratlel
Novimed ¢t eSS (5) Cheay stress CT)
TN N————
- = P
L L
== | 2]
F TP
_ oy Prra — _ F
Pl A S = I L= A




i Qm’ﬁ m.val 2/\4

R = why is & imprtat % Stady  Stress P

-

A —= Because each m.\MJ %6/5 arl a/Mo“/‘u& Stred)
/5;11> ond (faMS

e Foi lure.

L TCald
| 17 <4 S, or T £

—;> ga'%-e, c\& S‘Xb\,\

1YﬂpaY*owt notes
o MoymaL <trese ond
are Canpth“’o jﬁa*ﬁ fcauflcm [ov mhvrn-J)

’Jpovces not jprdm @PP‘”‘J +ov s,

Sheay  SHreds




Exomple ; Foy  Sysdon shoum,
Fpcd Strey 10 rod AR

ond BHC A, =35 mm

|
|
]
]
|
| ——— oly= 10 wm o Sy
| . P
L O Fe&Dd o
E n //\\‘\"»/
! st - 300 mm ;
! R =0 Idpg =0
i Ax s ™A _.1 /._"'
! { |
=2 = = ke) i
i r F‘G 5 B RA ?O " ’qok“ j B h
)
‘ v
! Zotry
; 2%) mm
I ——
E_-T.O f—'md Sm in A g wle. N
E VUZIC’ /ﬁnd 1nfevnal ’{WQ_J in AN ’ C
i Ra
ij =D
_— E - — ? ¥e.
ﬁb AR~ Rq 0 \
F'ﬁa
3
Cpa = L SR AL = 1426032 x® pa
3 Apa e (st

l‘/260?, HPK_

i

o 2
— For SHtrest in B Find ntered Pt \n BC
- F(‘,L
5?),':0 = F&-.?ohJ
| - Fac 20 ko)
| S&c'

A

= 'ZOXIOB . = 2Y1.932 M P
ﬁ ( 5'1163_)




Eoomplet B G

in rod AB= 175 Mpa Y4

s /1S M
ond Gt " nd BC \Ye)
A ,.
4
Solein 300 mm A
From  Predoans  Cxmuple, — [
feenal Foves /';”;g—‘—‘ 70 Ee) B :
' :
]
0\'1\0' FBC: 30 ko k | 1 % 10 kN
S, 250 mm é
T =y nd Az =1 g
Q= 22 = T2 i€
A _g c{/z
30 kN
__>>dq—-_—_ ‘/ Fﬁ@ | =V Civele Yaoling Y ond ol.‘av.._i‘-r
/ Cu G A=2v A= /7Cr>
g A’ - LC; d-Z.
— ol = L@f— _ [N (Ford®)
- VSN A
T Catlpn (7O I FSXF)

= EZZZ.S‘& mmj ’

Y Fgc B (‘1)(304’15{)
T Supe (7Y (15ox1¢)

sz - /9'q7 mm




